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I

What do | need to be abk to do?

: By the end of this unit you should be able
to:
I

| = Determne whether (xy) s a soltion
| ¢ Soe by substituting a known variable

| * Solve by substituting an expression

| = Solve graphicaly

| Sole by subtracting/ adding equations
|« Sole by adiusting equations

: * Form and solve near smuttaneous

Sobtion: a value. we can put in place of a variable that makes the equation true

Variable: a symbol for a number we. don't know yet

Equation: an equation says that two things are equal — it wil have an equals sign =

Substitute: replace a variable with a numerical value

LCM: lowest common multiple (the first time the times table of two or more numbers match)

iminate: to remove

Expression: a maths sentence with a minimum of two numbers and at least one math operation (o equas sign)

Coordinate: a set of values that show an exact posttion

equations

1 s (x. u) a soltion?

x and y represent vales
that can be substituted into

Intersection: the point two lInes cross or meet

| an equation

: [Does the coordinate (13) e on the Ine y=3x+57

| This coordindte represents

| x=land y=8
I y=3x+5
8=3(1)+5

I

I

| 0s the substitution makes the
| equation correct the coordnate
I (18)1S on the Ine y=3x+H
I
I
I
I

[ 5 (2,7) on the same. ne? J
7%#3(2)+5

No 7 does NOT equal 6+5

________________________________ |
IS S, - 1

I Substituting known variables [ (e s the equation 3 +y = 14 } Tvo differert variabes,
two solutions I
|I Stepha_nte knows the 3x+y=14 3(0) +y =14 12+y=14 |
| point x = 4 fes on that | | I N 121

|I Ine. Find the value for y L 2 L !
l 14 14 . |
x=4 y=2 |
= |
_______________________________ -
_______________________________ =
L Qubstitutin 4 in an expression Substitute 2y in place. of the x varidble as they I
I represent the same vale I
_ vy v |y x |y
K-y X % 30 5 :
— — X =
Xty =30 x |y x=2y x+y=30 Y I
30 10 | 10 |
3y =30

\_I_J ny|y3y=30 T3y +/ L |
Pair of simultaneous equations % y =10 x =20 I
(two representations) _!

I

' |
H L= N Y= } ~ (2, 4)isthe :I “ 3x+2y=18 OO ~75 |

oo |y R Y] X +2y =10 Q@ =10 |
| Linear equations are straight lines tp i | = |
| The point of intersection provides / nersecton || AE 2x =8 Y / / —18 |
| the x and y solution for both [ —— +2 +2 s / / —10 |
I equations l| _ x=4 ' / - |
| I |
I f I . x+2y =10 ®& =8 :
| The sobtion that satisfies both I (4 +2y=10 |
| equations is | x=4 —4 2y = 6_4 =4 |
| [x=2miy=4 | »=3 +2 +2 (v =3 |
I l| y=3 ) I
—_—— e o — e — — — ——— — — — — — e — e — — o — — — — — — — ——
________________ HPS T L T
: Solve m addtion (ddtion mokes zero pairs ” Solve by adjusting one ,2\ :| Solve by ad)UStll’IQ both :

x X X = h I
| 3x+2y=16 =16 Il & +j =12 Noequudent vales ﬂ J :| 2x+3y =139 VNG = 39:
I+6x—2y=2 e [l 20 +2j =29 I|5x_2y=_7 POO 00 -7
I 9x = 18 Y =2 ” 29 ' o I
| +9 +9 24 I I Use LOM to make equivalent x OR y values |
| x=2 2 @ o ” 2h+2j =24 | W I| Because of the neggtive vales using zero pairs |
oo =18 . hnfili] | and y vales is chosen choice
= g 2h+2j =29
L(z)gf ;(j)y— 11: v i ] PIBILIEN | |
| 64 2v =16 I By proportionally adusting one of 29 |I 4x + 6y =78 ' I
I Y 6 ) =2 I the equations — now solie. the |I 15x —6y =-21 roseceee |
| 2y =10 . I simuttaneous equatiors choosing | I Now solve by
| _ ly =5 an addtion or subtraction method I addtion
=5 : I |

LY __ —_—— s
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"Ratios and fractions

[ ——— — — —
| What do | need to be abk to do?

1
I

I I
By the. end of this unit you should be able to: |

»  Compare quartities using ratio I

*  Link ratios and fractions and make |
comparisons :

*  Link Ratio and scales and graphs |

+ Solve problems with currercy conversions :

I

|

|

* Solve best buy’ problems

I

I

I

|

|+ Share ina gven ratio
I

I

I

: *  Combine ratios

I

I

I

I

| - +  Form a straght Ine
| = + Pass through (0,0)
I

I

I

I

|
|
Ratio: ai statement of how two numbers compare :
Equivalert: of equal vale |
Proportion: a statement that links two ratios I
Integer: whole number, can be posttive, negative or zero |
Fraction: represents how many parts of a whole |
Denominator: the number below the Ine on a fraction The number represent the total number of parts |
Numerator: the number above. the Iine on a fraction The top number Represents how many parts are. taken :
Origin: (0,0) on a graph The. point the. two axes cross |
Gradiert: The steepness of a ine |

Il The car image is ﬂ
I 10cm

James: Lucy —
(:50 3.4 @D:D } -
£150£200 [TTT]

|
I
I
I
[l I James = 3 x £50 = £150
I
I
I
I
|

N - |

A T T T T T T T T T T | . T T T T T T T P

| Compare vith ratio @ || Ratios and fraction @ | Sharing a whok nto agiven @ |

| For every dog there are 2 cats” | | Trees U ralio | ames and Luey share £350 nthe I

| m | | Trees Flowers  ——=— =1 ot 34 |

| Dogs: Cats Units have : i 3 , 7 sl Work out how much egch person earms I

| . teteol | || 0 B enoete o |

: The ratio has to be written inthe | the same | I Fraction of trees Floviers (I James: Lucy I
same order as the. information is vake to I I | D:EI

| g || Yo 21 3.4 popm

| glien g | | Nomber of parts of in group 3 Sl : |

| €9 A1 would represent 2 dogs for | | | ™ Total romber of parts 0 S || | Lucy I

| every |cat ] A | " Find the valbe of one part |

—_::::::::::::::: _—_ﬂ:__-::::::::::::: : Whoke: £350 £350~ 7= £50 |

Ratlo and Waphs o Ratlo and Scak’, o 7 parts to share between D = one part |

: : (3 James, 4 Lucy) = £50 |

. Graphs with a corstart ratio are . . |

: directy proportond I O picture of a car s drawn with a scale of 130 Put back into the question |

I

I

I

I

|

[

1

\ mage. - Redl ife
The gradent is the constant ratio : : < g| em - 3o Dg
t = loem - 300m | Luey - 4 x £50 - £200
| Conversion betveen currences @) Sj== BE= i~ || Ralosin Inandn|  eetmmbundon
| o L S - | : Ratios in tn gnd | wntil the part indicated represents | :
| £1=90 Rupees 4——— Currercy is drectly proportiond I I Show the ratio 4:20in the ratio of In |
: For every £ o El-d0Rupees N o : | |
[ have. 90 Rupees - < The question states . |
I < I | trt th port has to 4. : 20 This side has to
£10 = 900 Rupees be dhiced by 4 I
I Currercy can be converted ’ I be. | it 00— to keepin |
[ Using & conversion gyaph Il thffmi |5 proportion
| g Convert 630 Rupees into Pounds | | e By I
| =900 ---~ / I | the n part does not have to be an integer for thi tupe of question |
I o . o — — — — — — — — — — — — — — — — -
| o EIORRSN  —630-d0-7 [T e e 1
I 10 Pounds = ) I I Comb‘nﬂ E’ ratlog %. .R. G I
I_ e _£7_<_GSO_RL£%S_ e _I | The ratio of Blse courters to Red courters s 573 :0 L I
I B?,St [Zl Mg //’/ You could work out how : : The ratio of Red counters to Green counters is 2 | o® © :
| / /4 much 40 pens are and | |
e 0]
I g ;(// ///2/ then compare : | Ratio of Bloe to Red to Green :... .O.o .o.. % |
I " Compare the soltion in the (! ® oo |
: | 4 pers costs £260 | | |0 pens costs £600 | context of the guestion I | IO : 6 : 3 |
I g The best valve has the | I U ert ratios o i T |
| S PN £260+4-£065  £600+ 10 £060 lowest cost “per pen” || Se equvarnt ralios 10 Glow |
) costs.... e bect vabe means £1 |1 COMPASON of the group that is &ﬁgeﬁtcogﬁor{w;ntw?ﬂwk tof |
= “l-pound o vaue m ratio both statements
| 4= bU:s 4+ 260- |54pens 10+ 6= 167 pens s you more pers | : common to both statements e :
|—_—_—______________________Il— ——————————————————— —
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Bg the end of this unit you should be able to:
Convert and compare FDP

* Work out percertages of amounts

* lIncrease/ decrease by a gven percentage
* Express one number as a percentage
Calculate. simple and compound interest

*  Cdculte repedted percentage change

* Find the original value

+ Solve problems with growth and decay

Mukiplier: the number you are muttiplyng by
quivalent: of equal valve

m

Percentages and Interest

|
| |
| I
: Exporent: how many times we. use a number in muttipication ft is written as a power :
| Compound interest: calculating interest on both the amount plus previous interest |
| Depreciation: a decrease in the valbe of something over time I
| Growth: where a vale increases in proportion to its current vale such as doubing |
| Decay: the process of reducing an amount by a consistent percentage. rate over time :
|

I I
I |
I |

: Compare FDP o Comparsors are easer n the same format. | :I Fraction/ Percentage of amount o :
70 out of 100 | £60
I 10 This dko g squares ——» 30 l;)und@d’[hs Il 3 [t euTen JenJer ] I
I 100 medns 707 |, FindZof £60 |
i 70 "hundredths’ s <« |
I Using ai fo- 100 = 7 ‘tenths” :| £36 |
| l Remember
calculator 07 | i 3. _ |
: Be careful of recurring decimals :: Rsememb” 07 of £60 - £6 57 007-06 |
I % —»| SZD | Convert to a decimal ¢ 1 ~03333333 I 5 507 of £60 - £30 60/ of £60 I
| 3 - (lv?a I| 007 of £60= £36 =06x 60 |
This wil give you the danswer \ x 100 converts The dot dbove the. 3 |I =£36 |
|n the simplest form to a percentage ||_ I
______________________________________________ 3
| Percentase increase/decrease. ) 1| Express s a percentage |
| 100/ P 1007 LR 27 per every 50 7 54 per every 100 |
| > < >< > | shaed shoded B
| 77777/ ] EE Y | ow [
| 427 Decrease by 587 Increase by 127 30 I
=
| 1007 -58/ - 427 Milpier 00/ + 12/ = 13/ Moliler = 2>« 100 |
| 100-098-042 4 Lesthn| 00+0la- 112 4 et 4333357 |
o o o _ , |
e T T T T T T T T T T T T T T T T T T T |-
| Can't use equudence 437 |
: Slmpk’, W\d compag’gii lntegflSt Compound Interest | £100 | Original amount: £ 100 @ :| easx%todfxnd ‘per |
Simple Interest z o 10% undred
| Smpie interest WUOO Tess invests o ﬁ VIEI0 § . I: | Decimal percentages are stil a percentage :
I James vests £100 4t 107 s oo oo oo
| 2200045/ compord [0 o AEE ] £ I|
| The original value increases interest for 3 g Flﬂd the Ofl@lmd Vak)e
simple interest 9 — ® |
I by this amount every year Years Y3£13A10) = || Percertoce cacutions
I— ——————————————————————————————
_______________________________ 11 [ orgrd —  Findl
| Repeated percentage change Deprecidion | ‘ oot~ U=

Depreciation cakulations use multiplers less than |

| Compand iterest ¢ o0 (T tio (T 10 ]{ x10 | [

Tess invests £ 100
£100

cakuviated by combning the multiplers separately

at 107" compound

Muttiplers are commutative — an overall mutipler effect can be }

In a test Luey scored 607 of her questions correctly Her
score was 4. How many questions were on the test.

60%

|

|

|
I interest for 3 \ Number of eg herease of | Original x 06 = 24
I years occurrences 10/ then I
| Original amount— Repegted mutipler reduction of 10/ The mutipler | 24 = 06 = 40 marks
oo =—=-==== 2| 0/ -6
_______________________________ A I
: Cronth and decay g H;OO/ ;ao £3000 with a profit of 207 Ho

Decay — the vales get closer to O | car sokdtor 6 pr vith g pr 7. How

| Compound gronth - Compound decay O(;r:zos:ri %i%th The constant muttipler s less than one | : mueh was the car originally?
| ‘ | | —— Original x 12 = 3000
| decay are Growth — the vaibes ncrease exponentialy | | | |
| exporential graphs The constnt multpter s more thanone | It - 120/ = £3000
I | I ' 0/ - £250
L* - H £3000 100/ = £2500
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Population: the whole group that is being studied
Sampke: a selection taken from the population that will ket you find out informaition about the larger group
Representative: a sample group that dccurately represents the population

|

| |

| |

| By the end of this unit you should be able to: | | I
| |
| |
: Random sample: a group completely chosen by change. No predctability to who it wil include :
| |
| |
| |
| |
| |

|+ Constrct and interpret frequency tables
| and polygon two-way tables, ne, bar, & pie
I charts

'+ Find and interpret averages froma st and | | Bigs: g buit-n error that makes allvabes wrong by  certan amount

:  table Primary data: data colected from an original source for a purpose

| Secondary data: data taken from an external location Not colected directly
I
I

Outlier: a valve that stands apart from the data set

* Corstruct and interpret time series graphs,
stem and kaf diagrams and scatter

o Not all data has a relationship

2 4 6 8
Age of Car (Years)

X

The axis should fit all the values

0s one variable Os one variable There is no
Increases so increases the relationship
does the other other variable between the two

“This scatter araph show as
the age of a car increases the

graphs
N - |
r—-—--——m—m—m-m--------—-—--"-l"----------"=-"-"-"-"="-"- ¥ F"-¥F=-¥F=-¥F¥F¥FFV¥V=—-—_- = 1
| Stem and leaf {O way o represent data and use to find averages } | | Tlme Series o |
I
Thi stem and keaf diaeyam shows the age. of peope n a ne. . the : : This time-series graph shows the total number of car sakes in £1000 over time |
rk
| swpermarkel I | 70 A Look for general trends in the data Some data shows |
| 0|7 9 Key: 114 Means 14 years old I 60 7 ‘\\ } a clear increase or a clear decrease over time I
| 1lasess T 7 N |
— - 4
| 2113 Stem and kaf digarams 1 g 40_ /,.- I
| 3lo Must include: ai key to expldn what it represents | | 50 g - ol ) st o the I
| The information in the diagram should be. ordered I 207 eadngs In-pelween ponts are estimales (on |
I | | 10 dotted lines) You can use them to make assumptions I
| Back to back stem and leaf diagrams 1 LI N R S N N |
I (;irls‘ ‘Bn_\s ||____________________________!
I sl |JFe|E|s--—---""-"-"-"-""="-"F=-F-¥FF=-¥F=—-¥F=F¥FF=F¥F=""F-"F=""=-—— |
| rassalisfaes 5[5 {1 Comparing dtriutions |
9,8,7.6,6,4, 2: I‘ ; 0: 017 U: 2 3‘ h‘ (): 7: 7‘ Fears l55 on ta” I I I
| o o s o s I | Comparisons should include ai statement of average and central tendency, as wel as |
| U I | a statement about spread and consistency |
| Back to back stem and leaf diagyams I |
| Ollow comparisons of simlar groups I | Mean, mode, median — allows for a comparison about more or less average :
| Olow representations of two sets of data (! Range. — allows for a comparison about reliabilty and consistercy of data |
S —_
rreee——-—-——-————"r- Y - - - —_-—_- - 'I
| Drow and inferpret & scatter graph QO . | Linear Correlation @ |
< ] = I I
S = @ X 7 b3 7
| Age of Car (Years) ( 2\ 4 6 8 | 10 § % i X | | % % gg ))(( & 2 Sk S I
| Value of Car (£s) 750# 6250 | 4000 | 3500 | 2500 X S 5 | | 5 3 3 ; X% Sl X %Xy |
k2l = 2 38 €
: . > ) g_’g— 8 |: g ¥ £3] xx CRER UL I
This data may not be given in size. order g S ] | Humber of prptes Nuiopr pfjoupg of cpffpe Lengt) ofthumt ik |
: * The data forms nformation pairs for the scatter graph g — 1 | I Postie Correbiion Negalve Correlon o Correlotion |
10
I |
| | I
| | I
| L |
| | |

The Ik between the data can Vabe decreases’ on and be equall spread out variable decreases variables
be explined verbaly
——————————————————————————— L v — — — — — — — — — — — — — — — — — —
r--—-———— ="y o T T I
| The ||ne of begt ﬁt o || US[nq a Iine O\c best ﬂt o Extrapolation is where we use. our |
I I Ine of best fit to predct information
The Line of best fit is used to make estimates 5. | outside of our data I
| =2 b 9% 3 |
about the nformation in your scatter graph 52 | d #<This fs ot abiats useful — n this |
I s o ko £3 [ htenpolation s using the e of best 2 exarmple. you cannot score more |
L The Ine of best £t DOES NOT reed to Height of plant I} fitto estmate vabes nsde our dta 5 that 1007 So revising for onger |
| 40 through the origin (The point the s orl - | port E can not be estimated™* I
| aes 6ross) s only an estimate g
I There. should be. approximately the because the Ine is I eg 40 hours revising predcts a E I
| same number of pornts above and designed to be an average | | perceriage of 45 4 I
bebow the Ine.(t may ot go through representation of the data | This poirt is an “outler” |
I any ports) | 20 40 80 B0 isgn outler because it doesnt it |
h
I Z:pky?e extends across the whok 1 s abiaus o straight ine. | I g Epprt pracying {houre) ?S dﬁ;ide‘ and stands apart from |
- __ | L L B |


https://www.google.com/url?sa=i&url=https%3A%2F%2Fwww.ck12.org%2Fstatistics%2Ftwo-sided-stem-and-leaf-plots%2Flesson%2FTwo-Sided-Stem-and-Leaf-Plots-BSC-PST%2F&psig=AOvVaw25U9AugB2SP7G2U16MLpCy&ust=1594386355169000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCJDy5paewOoCFQAAAAAdAAAAABAD
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[ _____________ A
| What do | need to be abk to do?

: By the end of this unit you should be able to:
|+ Constrct and interpret frequency tables
and polygon two-way tabkes, Ine, bar, & pie
charts

Find and interpret averages from a list and
alable

Corstruct and interpret time series graphs,
stem and kaf diagrams and scatter

I
: Population: the whole group that s being studied

| Sample: g selection taken from the population that will ket you find out information about the larger group
| Representative: a sample group that accurdtely represerts the population

: Random sample: a group completely chosen by change. No predctability to who it wil include

I

I

I

I

I

Bias: a buit-in error that makes all values wrong by a certain amount
Primary data: data colected from an original source for a purpose
Secondary data: data taken from an external location Not colected drrectly
Outlier: a valve that stands apart from the data set

graphs

N - |
i' _____________________ 1|?___t_bg_________s@up?eoﬁmﬁ@omeﬁm___l

Frequency tables and polugons 11 WO Way Labes |
| Each poirt s potted at them mid | | Odult Chid Totl I
| e Frequency port for the group it represents 60 peopk vsited the zoo one. Saturday morming
| Weight(g) g' : : of them were aduls. 13 of the aduks Elphant 13 24 37 I

40<x<50 1 S5 1N > animal was an elephant 24 of the

| [so<x=<e0 3 § 4 | I children’s favourite. animal was an elephant Other 13 10 23 :
| |s0o<x=70 5 3 ® |
| Wedonot know from 2 <« Each Pom;;‘cign;ceted with a | : Extraotthxniorrriat\onttz k\:put to Tota\‘ 26 34 60 - |
I grouped data where each | g ¢ ooy 4 Needs stbgrowp totals Overaltotal |

vabe s placed so have to use 0 Weight (g - - - d
| anestimate for catuitors | i_ T T T T T T T T T _i
| e || Draw and interpret Pie Charts (R ) |
I Md-ponts are used ds estimated Mid-point || Comee [ s [ oo [ vemewr | There were 60 peopke asked in this survey |

vales for arouped data The. The data about weight starts at Start point + End pornt [ Freavency [ 32 | 25 [ 35 | ———(Totalfrequenc
o Stat pont* Erdpont || | ( qercy
| midd of each group 40 So the axis can start at 40 a | /1 I
‘—:::::::::::::::::::::I| 32139 0t of 60 peopk had  dog’ guté(t)e metho? o |
— | 60 s 00 goes into — b times
| Bar Md flne Cha(ts Compare, the, bars green compured to ekon: The I ST Each frequency can be muttipled by 6 to find I
| Composite bar chart see of eoch bar s e freauercy I I / the degrees (proportion of 360) I
! . \
I Omposile o s " Overdl total easly comparable || This fraction of the 360 degrees Lopie) |
| || represents dogs \.\V:r‘;_\/ Comparing Pe Charts |
; ! Dudl bar charts You NEED the overal
| . : |32y 360- 20 Use a protractor to draw frequency to make any :
| A e————— Barsae | !_ %0 Ths s 192° comparsons
| e comparedsde by .1 || |Im || ——- - L - T _”"_”_”_”"_”"_”"_”"_”"T"
| cassoions .o || Overages from ists @ |
| Categores cearly rcated Easer to compare ** || AVErGges Trom KIS Find the sum of the daitai (add the valuel
| wbyops : | The Mean 55 T
I e wae o I 0 measure of average. 1o find the central tendercy. ..
Categories cearty ndoated  —p- I Divide the overdl total by how many

a typical vale that represents the data

I
| | pieces of data you have |
24,84, 118 : . I
| Q\lefaqes from a tabh o Overal Frequency | : 5 +5 Mean = |l |
I Non-grouped data 20 | | |
['[ Nomber of Sbin 0 | 2 |
| . - I : The Mode (The modal vale) :
| | freaeny 6 5 ¢ || This s the rumber OR the ttem 44,8418 Mok - § |
I sitota 0 8 K V\T‘M number of I | that ocours the most (i does This can stil be easier if it the |
| sbings 20 |1 ot have to be numerical)
| The datamalst 00000011111111224222 ol wla s orcered st :
I I
| EM&M total rumber of shings _ | } I : The Medidn :
Put the data in order
| IE 27 | | The vabe in the center n the 484 124 I
: Grouped data : | midde) of the data Find the vale nthe midde 4, § 8 1, 24 I
Overal Freauency: 9 NOTE: If there s 1o single. middle
| T |rrequengy|| MPM | PrF | 2484 118 Median = 8 | vabe fid the mean of the tuo :
| Weight{g) " o Overal Total - 565 | : S numbers kft |
40<x<50| 1
I — 62 |
| [s0<x=60| 3 65 I Mean: 615 I : For Grouped Ddta :
60 70| s
: =r= o 5 : | The modal group —which group has the highest frequency |
| Thedatainalst 45 55 55,55, 65, 65, 65, 65, 65 | L :
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Factor: numbers we muttiply together to make another number
Mukipk: the. resutt of muttiplying a number by an integer
HCF: highest common factor The biggest factor that numbers share

|

|

|
the end of this unit you should be. able to: :
|
: LCM: bowest common muttiple. The first multivle numbers share
|
|
|
|
|

1
I

I

I

I
Understand factors and muttiples |
* Express numbers as a product of primes |
I

I

I

I

I

I

|

° &

Orithmetic: a sequence where the difference between the terms is constant
Geometric: a sequence where each term is found by muttiplying the previous one by a fixed nonzero number
Sequence: tems or numbers put in a pre-decided order

* Describe and continue sequences
*  Explore sequences
*  Find the nth term of a Inear sequence

|
|
|
|
|
| * Find the HCF and LCM
|
|
|
|
|

L __ e |
Ll I = ™ o T T T 1
| Mulliples  The ‘times tabke” of a gven number o |I Factors o | P Prime numbers I
| | | ®®®ee Orays con heb represent foctors ® @@ 0000800 || . lnte@er |
| Olithe numbers in this ists below are mulipks of 3 || seeee Oxtorix0 |1 Onlyhas 2 factors I
: [ 3691 0.. ] [ 3, 6x, % ... } :If”g‘“w 250 N e adish i ot e :
e numoer ((Ser IS
I This list continves and doesn't \ : Factors and expressions A :I The only even prime. number |
end
| ot ake ony v and. 1] _,— Factors of bx I Leam or how-to qick recal !
| Non example of a muttiple as the variabe i a mutip of || o x | R 6xx 6,x, | 6x, dx, 3, 3x, 2 |I q I
3th I ako be
| 455 ot amutipe of 3 o e - - ] Il 357,111,177, 1452... ]:
| becase (L5 3% 15 i|‘3x><,2 (! o
| Not an integer _! | |!_ _!
_____ N I T TV
Product of prme fectors pbten ©! Finding the HCF and LCM |
part-whoke HCF — Highest common factor LCM — Lowest common muttipe |
rrojsrs
| HCFoflBand 30 | | LOMofI8and 30 |

} .ﬁ 12.36) 15 18,36, 54, 7(%0

|
'I
|
1
i
:I
|
l
I
‘b éb @é\@)” 30 | 123506105 30 30, 60,110

: : The first time their LCM - 90
1
1
1
I
|
|
|

|
|
1

0 s the biggest fact ~
' the{j@s@ﬁ(g -6 multiples match

Q I8 20
5

ol threa prime. factor trees reprasen the. same. '.j-"_;.mfﬂ?&}ahﬂ‘“u

30=2x3x5 Miltipication of prme facters

Usina prame. factors for predetions

eg @0 Z0xd  Adx3x5x2
B0 30x5 Ax3x5x5

HCF - 6
______________________ 1I____________________________I
____________________________________________ 1
: Orlthrmttc/ Geometric sequences |: Othef sequences ” Flndlnq the nth term (R ]
Orithmetic Sequences | change by a common difference. This is I Eiporgess Sequence Each tem s the This s the 4 I
: found by addtion or subtraction between terms " [ 1235 78.. o f;gtﬁ;gvm ” times tabe ’ 4 6 I;l |6 20' e :
| | Geometric Sequences | change by a common ratio. This || Trianalar Nombers — ook at the formation 11— 4 v vy I
| s found my muttplcation/ divsion between terms Il Il I
: || O H] Hﬂ] l, 5, 6, lO, l5 cee I: This has the same constant 7, I L |5, M, 29’2 |
] |l dfference —but 5 3 more |
I (Trmn bg) [t]eg?e rg}:@;exz«) %gut s:tnirxc;rrz gfwg term 11 Square Nombers — bek . the formation | thonthe ongnal seqperce |
' Il ' 4n+3 I

T

I Posttion to term rule — take the rule and substitute in a Il o 85 223 CO5C L4 9 l6... I / |
] | This is the comparson (difference) |
| position to find a term Eg Muttiply the position number Ths is the constart difference betieen the,orgral and re |
I

| by 3 and then add 2 I Sequences are the repetition of a patten I between the terms in the sequence sequence
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